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QUESTION 1

What can be inferred from the last three sentences? 

A. The narrator wanted to swim in the water, but she was afraid that her father would punish her if she did. 

B. The narrator decided that it would be more fun to make a sandcastle because the ocean water was too cold. 

C. The narrator\\'s father was teasing her, because he knew that she is an excellent swimmer. 

D. The narrator forgot that she could not swim until her father reminded her. 

Correct Answer: D 

 

QUESTION 2

If the perimeter of a rectangle is 60 ft, which equation below can be used to determine the length of the rectangle? (P =
2/ + 2w, where P = perimeter, / = length, and w = width.) 

A. / = 30 - w 

B. / = 60 - w 

C. / = w + 30 
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D. / = w/60 

Correct Answer: A 

 

 

QUESTION 3

Select the word that best completes the sentence. 

Built at great expense when the Roman Empire was economically dominant, the magnificent Pantheon stands as a
reminder of Rome\\'s __________. 

A. cunning 

B. location 

C. prosperity 

D. scenario 

Correct Answer: C 

 

QUESTION 4

Based on the passage, we can infer that extracts of medicinal plants generally: A. have stronger effects than the raw
plants. 
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B. require knowledge of modern chemistry to produce. 

C. take a very long time to produce. 

D. have to be taken in larger doses than raw plants. 

Correct Answer: A 

 

QUESTION 5

The stem-and-leaf-plot below shows the scores students received on an English test. 
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Compare the quantity in column A to the quantity in Column B. 

A. The quantity in Column A is greater. 

B. The quantity in Column B is greater. 

C. The two quantities are equal. 

D. The relationship cannot be determined from the information given. 

Correct Answer: A 

 

QUESTION 6

If Figure 2 is a rectangle, then what is the value of x? 
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A. 45 

B. 90 

C. 180 

D. 360 

Correct Answer: B 

 

QUESTION 7

Use the number line to answer the question. 

What is the sum of A and B? 

A. 1.7 

B. 2.5 

C. 4.3 

D. 5.9 

Correct Answer: D 

 

QUESTION 8
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Brendan tried to fill an empty vase with cups of water, but he accidentally spilled cups of water onto the floor. If he
poured the rest of the water into the vase, how many cups of water ended up in the vase? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 

 

QUESTION 9

If 30 + m1/2 = 30, then what is 30 x m? 

A. 31 
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B. 30 

C. 1 

D. 0 

Correct Answer: D 

 

QUESTION 10

Select the word that is most nearly the same in meaning as the word in capital letters. 

HARMONIOUSLY 

A. aggressively 

B. slowly 

C. cooperatively 

D. strikingly 

Correct Answer: C 

 

QUESTION 11

The passage suggests that: A. Oparin and Haldane\\'s theory is the only explanation left for how life could have begun. 
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B. although it was interesting, the Miller-Urey experiment was ultimately a failure. 

C. there\\'s no evidence one way or another for how life really began. 

D. we may need to learn more before we can finally determine how life began. 

Correct Answer: D 

 

QUESTION 12

Triangles ABC and LMN are similar. 
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What is the ratio of the perimeter of square ABCD to the perimeter of square LMNO? 

A. 1 to 3 

B. 1 to 4 

C. 1 to 9 

D. 1 to 18 

Correct Answer: A 

 

QUESTION 13

Lucy is ordering some books online. There is a flat shipping fee for the first book she orders, and an additional charge
for every extra book. This is represented by the formula y = 0.75(x - 1) + 7, where y is the total shipping cost and x is the
total number of books ordered. 

What is the meaning of 0.75 in this formula? 

A. For every dollar it costs to ship, there are 0.75 books being mailed. 

B. For every book bought, the shipping cost is $6.25. 

C. For every extra book bought after the first, shipping costs an additional $0.75 per book. 

D. When 7 books are bought, the shipping cost is $0.75. 

Correct Answer: C 

 

QUESTION 14

Select the word that best completes the sentence. 

Although Carl Linnaeus is now famous for creating a system for classifying plants and animals, he __________. 

A. was always widely revered for creating this system. 
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B. had always known where to find certain tree species. 

C. first gained renown by writing a book about plant reproduction. 

D. taught his students to recognize what plants should be classified under what categories. 

Correct Answer: C 

 

QUESTION 15

If 30 can be divided by both x and 5 without leaving a remainder, then 30 can also be divided by which of the following
whole numbers without leaving a remainder? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 
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